
A

B

C

D

E

F

1 2 3 6

1 2 3 4 6 7 85

TITLE REV.

A

B

C

D

E

F

7

DWG.NO.

SCALE :

DWG.NO.

SIZE A3

4 5

DRWN.

CHKD.

APRV.

DRWN.DATE

14

[ 0.55 ]

192

[ 7.56 ]

( 14 )

[ 0.55 ]

(
7

)

[
0

.
2

8
]

3
3

5

[
1

3
.
1

9
]

8 [
0

.
3

2
]

3
5

0

[
1

3
.
7

8
]

220

[ 8.66 ]

14

[ 0.55 ]

192

[ 7.56 ]

( 14 )

[ 0.55 ]

2,3

[ 0.09 ]

2,3

[ 0.09 ]

227

[ 8.94 ]

( 1,5 )

[ 0.06 ]

8
7

[
3

.
4

3
]

38,6

[ 1.52 ]

5
6

,
1

[
2

.
2

1
]

1
7

,
2

[
0

.
6

8
]

1
9

7

[
7

.
7

6
]

5
6

,
1

[
2

.
2

1
]

1
7

,
2

[
0

.
6

8
]

5
6

,
3

[
2

.
2

2
]

1
0

[
0

.
3

9
]

1 [
0

.
0

4
]

24,9

[ 0.98 ]

5×P15(= 75 )

[ 2.95 ]

84,5

[ 3.33 ]

23

[ 0.91 ]

114,1

[ 4.49 ]

10,2

[ 0.4 ]

137,4

[ 5.41 ]

2×P15(= 30 )

[ 1.18 ]

1
1

8
,
2

[
4

.
6

5
]

1
0

0

[
3

.
9

4
]

1
1

6
,
6

[
4

.
5

9
]

1
1

8
,
2

[
4

.
6

5
]

1
6

7
,
6

[
6

.
6

]

900-287-805 -1 /1

S.Oshima

LA700 IP20 TYPE

22-07-19

1R.Nagashima

900-287-805

1

DIMENSION DIAGRAM
T.Yanagimoto 1-- --

Model No. Max Appli. Motor (kW)

Terminal Symbol Cooling

Fan

Mass(kg[lb])

EMC noise Filter

INPUT OUTPUT(MOTOR) No Internal EMC Filter Internal EMC Filter(C2)

CIPR-LA70□4049□□□□-#□□□□□ 18.5 R/L1 S/L2 T/L3 U/T1 V/T2 W/T3 2 8.5[18.8] 8.5[18.8]

□:A to Z

#:A to Z

Third Angel Projection

Dimensions in mm[inch]

Detail (without Front cover)  Scale 1:3

4 Mounting Holes

for M6[1/4-20] Screws

Digital

Operator

EMC Filter

Switch

(EMC Only)

Main Terminals

with M5 Screws

:Slot(-)

Main Terminals

with M4 Screws

:Slot(-)

Grounding Terminals

with M6 Screws

:Phillips(+)/slot(-) combo

Base Point of

Terminal Board

Refer to Drawing No.900-208-043

for Terminal Board Detail

(
M

5
 
T

e
r
m

i
n

a
l
s
)

(
G

r
o
u

n
d

i
n

g
 

 
 
 
 
T

e
r
m

i
n

a
l
s
)

(
M

4
 
T

e
r
m

i
n

a
l
s
)

(
T

E
R

M
I
N

A
L

 
B

O
A

R
D

)

(
M

5
 
T

e
r
m

i
n

a
l
s
)

Scale 1:4

Air

Air

5×P[0.59]=

2×P[0.59]=

T.Yanagimoto

　　　　APPROVED
1


	シート 1
	ゾーン
	A1
	A2
	A3
	A4
	A5
	A6
	A7
	A8
	B1
	B2
	B3
	B4
	B5
	B6
	B7
	B8
	C1
	C2
	C3
	C4
	C5
	C6
	C7
	C8
	D1
	D2
	D3
	D4
	D5
	D6
	D7
	D8
	E1
	E2
	E3
	E4
	E5
	E6
	E7
	E8
	F1
	F2
	F3
	F4
	F5
	F6
	F7
	F8



